- GREEXASEHERSIUVAODBTA —BX (SHE)  THOE2AFREHE
BT % HEHR 5 £ it BT % HER Eil £ &t BT % HEH 5 X &t
A1 TH 143 145 157 302|EI3TH 421 495 526 1,021|FR7E1TH 139 120 142 262
#$BT2TH 114 111 122 233|%EHT4TH 276 311 301 612|FRY E2TH 223 206 255 461
#$HBT3TH 171 154 181 335|32HT 376 448 458 906|FRY E3TH 80 61 98 159
EBH 286 212 275 487| P B WHET 676 679 834 1,513| BRFHEL 435 526 568 1,094
HBHT 495 505 524 1,029 P25 EET1TH 259 221 154 375|BRHFA/KR 201 241 262 503
AET 209 201 236 437 P2 ERT2TH 104 109 100 209| BREFFH 205 272 279 551
JUHT 273 302 298 600 FEWE EET3TH 354 340 375 715| iR Er A H 435 594 640 1,234
Eadssl:i) 274 279 316 595|R7E1TH 336 323 380 703|HEEFEO 420 582 581 1,163
FEAET 339 344 379 123|RTE2TH 239 307 274 581|HEFA L 866 1,196 1,212 2,408
LM1TH 783 838 815 1,653| R E3TH 282 284 316 600| HiREP T E H 848 954 1,015 1,969
%M2TH 607 549 41 1,020| R7 E4TH 216 220 261 481| R B EF < 1,825 1,922 2,079 4,001
WE1TH 187 231 202 433| R E5TH 119 141 131 2712iRE 613 724 791 1,515
WE2TH 495 519 513 1,032| Ry EEE 0 0 0 O|RERDE 1,006 1,229 1,259 2,488
WE3TH 235 188 268 456 | FTRET 708 803 824 1,627| REFDE 468 576 610 1,186
FIEB1TH 278 246 248 494| RE1EE 186 162 186 8| RBEFADE 614 758 803 1,561
FEB2TH 1,066 1,075 1,229 2,304 | K IR AT 170 156 209 65| RIEFREEREE 307 231 373 604
FIZK3TH 376 384 388 172 (R RIRAET 151 109 182 21| REBEE—1EE 213 189 235 424
FEIB4TH 227 262 260 522| B HET 352 405 399 804| £ 2 &L 133 155 182 337
K=H 273 266 301 567 |#E /R BHET 849 831 881 1,712| £ 2 5515 87 115 111 226
KHET 144 113 122 235| TR ErAT 151 158 187 345| L2 &/ 119 183 163 346
= EHT 223 196 225 21|BRhREE 432 303 442 745| E 2B EFF 170 225 225 450
AXFE1TH 256 242 266 508 |48 /R 744 77 873 1,644| L 2 i #t 432 569 564 1,133
KFE2TH 334 381 394 775|88E1TH 186 183 199 382| L 2T 309 411 416 827
tHI1TH 437 465 476 941|88H2TH 367 432 457 889| L Z MR 30 40 44 84
LHE2TH 455 420 476 896(#8[R3TH 170 183 206 389 | R 1,025 1,201 1,266 2,467
LtHI3TH 328 232 305 537|#R4TH 345 394 407 801 |HRW1TH 155 150 171 321
HiSE1TH 88 127 134 261|88[R5TH 212 257 243 500| L 2TH 379 449 420 869
HBE2TH 166 199 208 407|FTEE 199 213 238 451|#HEW3TH 578 477 606 1,083
HiSEITH 95 115 133 248| TEE1TH 182 180 177 357 | A 451 509 518 1,027
Hi5fE1TH 401 389 407 796| FTEE2TH 95 140 128 268 | m 4 H BT 164 203 215 418
HigfE2T B 133 133 153 286| TEEE3TH 612 612 666 1,278 | R A2 F FRET 454 460 497 957
miEFE3TH 409 329 372 101\ FEE4TH 82 72 82 154[ 15 181 193 227 420
HigE1TH 186 192 188 380| FTEES5TH 290 294 318 612| KK 404 380 365 745
TiEm2TH 75 98 103 201| FRE6TH 104 103 102 205| KO % H 0 0 0 0
Hi5E3TH 3 2 7 I LER 1,232 1,404 1,440 2,844|YALS5EET 150 133 17 150,
SWE1TH 399 346 428 774|FhE 1,593 1,877 1,933 3,810|YALSTEER 200 125 75 200
BWE2TH 581 657 777 1,434| RGBT EEE 39 39 50 89| RN ZEEI 3 0 3 3
SWFE1TH 374 443 450 893|MEE1TH 0 0 0 0
SWFE2TH 301 376 394 T70[#AE2TH 398 467 494 961
SWE1TH 254 256 282 538|MEE3TH 25 36 44 80
EHE2TH 75 79 84 163|;F1TH 252 314 345 659
SE3TH 259 253 308 561|7F2TH 193 215 213 428
=31 TH 274 294 330 624|7&3TH 466 491 542 1,033
=it2TH 340 304 316 620|7E4TH 304 306 331 637
hET1TH 442 465 456 921 | AFESFE 233 219 160 379
FET2T B 258 241 220 461 [{1F 58T 10 3 9 12
FET3TH 178 192 191 383| FiEAT 1 0 1 1
FET4TE 94 93 85 178/1& 5 & 828 627 869 1,496
ZE1TH 288 324 372 696|FHIEEHE 289 259 322 581
ZET2TH 376 473 485 958 | L EF & 180 171 210 381
= E 45667 48666 52,096 100,762




